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ENTRANCE EXAMINATION - DEC 2021
SUBJECT: MATHEMATICS
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}2/ What is CO-prime numbers? Write two pairs of co-prime numbers.
g TS W12 w1t 7 g s stwarst & 1 9713 By
S SIS T o e 47wy 5 % 3T SE @,7)LS|%)

Q2" Evaluate : e vt )" - (;})—1}—1:. -

—

=
Q.4 'I'f_f?""-hf; = 51. Find the value of x? — 1 =364

X3
ﬂ‘ﬁ‘xz+;1-z-= 51 ‘ﬂ‘rxz-i-xiz: 51 ®re w3 F
| (2+2)(7-%)

Q5 / Find the value of x for the equation: RIS 1 A=
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Q.6 Nakul starts his journey to his school by scooter at 9 am and reaches his school at
i=i-pm. if he drives the scooter at a speed of 30 km/hr. By how much should he
increase the speed of the scooter so that he can reach the school by 12 noon?
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i Laxmi is cashier in a bank. She has currency notes of denominations Rs 100, Rs
P 50 and Rs 10. The ratio of the number of these notes is 2:3:5. The total cash with
Laxmi is Rs 4, 00,000, How many notes of each denomination does she hava?
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QK 50 and Rs 10. The ratio of the number of these notes is 2:3:5, The total cash with
Laxmi is Rs 4, 00,000, How many notes of each denomination does she have?
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Q8" Monica, Veronica and Rachat begin to jog around a circular stadium. They
complete their revolutions in 42s, 56s and 63s respectively. After how many
seconds will they be together at the starting point?/ wifae, s she g % Mo
R ¥ ATRY ST zge % e &) T St whoEny e 42 %7, 56 7% 3% 63 AT ¥ T Fy
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Q2 Aboatgoes 30 Km upstream and 44 Km downstream in 10 hours. In 13 hour it
goes 40 Km upstream and 55 Km downstream. Determine the speed of the
stream and that of the boat in still water,/ UF 77 10 W2 & 30 et arr ¥ s s 44
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Q.12 If50% of (x —y) = 40% of (x +y), then what percentage of x is y? ||L7
X (x — y) #1 50% = (x + y) ¥140% & 4 x 71 FrarafRew y & =

gylﬂf In a shooting competition, Gyan receives Rs 5 if he hits the mark and pays Rs 2 if
he misses it. He tried 60 shots and was paid Rs13, How many times did he hit the
marks?/ ffr gfen wfrarfar &, TRSEAET | IR st a2 s v g d o
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S QJ’&- Find the area of a ring whose outer and inner radii are 20cm and 15 cm om 2~
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Q.15 The ratio of the radii of two cylinders is 2:3 and ratio of their heights is 5:3. The
ratio of their volumes will be?/ & &=t t frwarst w1 srpa7a 2,3 & o 3= S=rE =7 ST
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QA6 Aman brought a certain number of books for Rs 600, He sold-i- ofthemats DI +.50
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\}/f& A man brought a certain number of books for Rs 600, He sold ofthemats DI +.50

percent loss, At what price should he sell the remaining books so as to gain 10%
on the whole. / o s+t # 600 773 & fafirs swar & Rramd wrtvdhi 3o 2 R 5% e e 4
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what is the least natural number which when divided by the numbers 3,5,6,8,10
and 12 leaves in each case a remainder 2 but when divided by 13 leave no
remainder. / g @121 § & G1E w7 w47 ¥ o & B 3,5,6,8,10 ¥ 12 & Frwrhiry w3 qv 2 0
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\Q‘{B The value of a machine depreciates every year by 10%. What will be its value
after 2 years if its present value is Rs 50000, J % wefte ¥ gew & wfaad 10% #1514 £ 2
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Q.19 Asquare part has each side 50m. At each corner of park, there is a flower bed in
the form of a quadrant of radius 7m, as shown in figure. Find the area of
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PARTB (10 x 10 = 100 MARKS)

Q.21 The following pie chart represents a total number of 1800 teachers, If two-ninth of
the teachers who teach physics is female, then number of male Physics teachers is

approximately what percent of the total number of teachers who teach chemistry.
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Q.22 A man borrowed a certain sum of money and paid itback in 2 years in two
installments of Rs 3000 and Rs 2362.5. If the rate of compound interest was 5%
payable annually, What sum did he borrow? / o= st & t= ffam 9w 3ur 1 ste e 2
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A solid cylinder has total surface area of 462 m2 If its curved surface ared ' o
third of its total surface area then find the volume of the cylinder./ &% 1% EF;;N 5
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A'bucket of 15 liter is filled through a tap at the rate of 1 lit/min. Afte,r 2 m:nut‘esd_ i
the bucket develops a crack with leakage rate of 10ml/sec. Find the time required 1
to fill the bucket. /15 ree erwar # px arest, e e v, 1 Prefime 71 orer TR 3 AT TR
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Ajay donated %zh of his money to a school, éth of the remaining to a church and

the remaining money he distributed equally between his two children. If each

child gets Rs 75,000, how much money did Ajay originally have? L
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Om started a business by investing Rs 2,50,000. During the first three successive, 8
years, he earned a profit of 5%, 10% and 12% per annum respectively. Ifin each -
year, the profit was added on the capital at the end of the previous year, calculate
his total profit after 3 year./ i & % 2,50,000 %7 ¥ #7 v =Ty 4% fraT TEH T S
9T 3 77 5%, 10% T 12% 716+ 2% & 77w wde Fram) 3 e ok o e 97 o ad 1 e
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If 7 men working 6 hrs a day take 12 days to complete a task, then how many

days will 3 men working 8 hrs a day take to do the same work?/ 7f2 7 sz, 6 92
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Q.28 Draw a pie-chart of the data given below.
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Q.29 Two pipes A and B can fill a tank in 24 min and 32 min respectively. Boththe
pipes are opened together. After how much time pipe B should be closed so that
the tank is full in 9 min?/ 27 91{y A sz B 0% &% %7 #7w: 24 fwz e 32 Rz # vt T £ 3A
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